EARAROBREBRT —5 XN—ZXBISH—F

202388158 (k) SEIEfI4E

11R ENENEkSs]

B2”ZB3— Y>5%—fig

‘(fﬁ} W ‘I%EH?’JFE‘?] | & 100 =

[AE$] 1 7% :3,000,000 F  23#&:1,200,000H / 3&:

750,000 3 4 7 :450,000 @

5 7& 1 300,000 M4

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
1172|710 awR—5— o7 ggﬁg‘ﬁﬁ 1:28.2 7-6-4-2 389 — | 4 4_50 fgg— (RA0)
. ) -4 |1
RiAAY3VR—5— B:FIPYNF=ZF WE &
= v s 4 | HEY 1:28.4 1-1-1-1 [39.9| - 1 517 | FIUEHR (Ef)
20111 | 73vI7IN=b 5.0 ) 4g) | YTIVT RRIAVE (@)
R:O—RAprrO7 #B:TUaxvb TATAT7—1A
S - o7 | BER 1:29.9 8-8-7-3 |40.0| - 3 514 | BOSIZ GETD)
] 2 PIEAA 57.0 @) o) | LERE
RIAR—KTFILTY BINSTALRTST— (ST ¢
. N —" 4 6 | DOEEFOIB 1:30.3 6-7-6-5 | 40.7 | — 7 a1 | )IISZ CEfD)
4 6|V 747NO—X 55.0 ) 3) | W FTIVF
RiW—>—yw? §:Z3—)LNO—X ==e ]
= 4 6 | THHERER 1:30.6 1-2-2-4 | 41.9| — 2 481 | EE—% (HEHD)
5 3|AS/THAXR #54.0 a1/ w7 | A=
RIRVIRTAvIUFUTP— BAS /YUYy HEERS
— tv 6 | RHD 1:30.7 5-5-5-6 | 41.4 | — 6 | 474 |XEBEE CHR)
615/5|TIdARI— 5.0 @E) (6) | IVHREEAER
RIIRT VTV B:RI—bSvh— pelate]
~ P, — st 5 | WiEHLT 1:32.7 1-3-3-7 | 44.0| - 5 485 | I\AIRE GAAD)
7188 |0YIYv—2 53.0 (941) (-q) | BLARAL
SE-UR BNLYYBY =# =ty
N <, o FEBRE : -4-8- - FEABE (Ef)
8 4| FAVEYRT A i} 55.0 (15}?;3) hes 458 8 ig? %EE;‘;H;
RPAUAYRA NUAw b §:FONYT— ENIVHRUS
@ 11— —BBIEfI
13—7+— (1,3,8),4,5,6,7,2
20—7F— 1.3.8,4,5,7,6,2
30—7— 1,3,8,7,5,6,2,4
43— — 1,7,2,3,6,5,8,4
o ILRE
B B 7 880H4 JA R 1-7 210M4 B E 1-7 570M4 3EE 1-2-7 650/
7B B 7 150 2-7 340 =51 7-1 2,240 3EH 7-1-2 6,720
1 110 1-2 2004
2 1504

ABIC OV TRUTEREERRODDZE. THRIIZEL.




